mwdterm Exam B (continved)

27. Evaluate all six trigonometric functions of the angle 8 27.sin 8 =
for the triangle given below. i
cse i =
13 cost =
secfl =
cotfl =
12
. . 4 28,43 =
28. Solve the right triangle AABC 8 =
for all its unknown parts =
ifa =43 anda = 3.5. ¢ _
u ¢ o=
A 5 C
29. Which transformation was not performed on y = cos x 29,
to obtain y = —4 cos(2x + #/3)?
A. Vertical stretch by a factor of 4
B. Horizontal stretch by a factor of 2
3 C. Horizontal shift left by #/6 units
@ D. Reflection through the x-axis.
30. At the top a radio signal tower there is an antenna with 30,
a light on the end of it. From a point on the ground 800
feet from the base of the tower, the angle of elevation
to the tip of the light is 48.8° and the angle of elevation
to the bottom of the antenna is 42.7°. What is the height
of the antenna, including the light?
31. Simplify: (sec x — csc x) sin x cos v = : 31.
A. sin x — cosx B. cosx —sinx
C. sinx + cosx D. cosx + sinx
32. For the next 15 years, a small company’s business 32. (a)_
volume can be modeled by the function (b)

f(x) = 47(1.09)" + 3sin % where v is the number of }(‘
years after 2006 and fis the sales in millions of dollars.

(a) What are the company’s sales in 20067

(b) What does the model project for sales in 20137

(¢) How many years are in each economic cycle for this

% company?
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1. Solve the system graphically.

Round the answer to the nearest hundredth. S5 oo wms BT
o - L3z . ‘/(,)
i e /
= F ==
2 5
1
= X
¥=3
(0,4, 2)
2. Solve the system by any method. 2. 2 J
3x +4y — 6z =4
X+ 2y =38
Sx +27=4
C
3. Which of the following is the matrix equation that 3
represents the system of linear equations below?
3x + 6y = =2
2x — 4y =10
3 2] x =
s {6 —4My} - [wJ @i =
3 61l x 10
. {2 JM - LZJ
3 6 f'x _[=2
« [z —JLJ = IOJ
[_1 1]
4 —21
S R ~
11yl T Lo |
L 6 3]
[ 1]
6 3 |[x 21
E. =
1 M [ mJ
L 4 2

4. By augmented matrix, solve the following system: 4. ( 2 J >

X—p—z=3
3x+4y+5z=1
y+2z=-=2




MHal Exam A (continued)

( S (S -8 7)
N S. The matrix | —3 2 —1 {is the inverse of 5 - S A .
3 =3 2
|
3 5 4. Solve the following system by the inverse
3 6 5
matrix method.
x+yt+z=4
3x+ Sy +4z=3
3¢+ 6y + 52 =2 b
6. Sketch the region of feasible points and solve the linecar 6. C =

programming problem. at ( b s d >
Maximize C = 4x — Sy, subject to:

x =2
(u};?') (7, 9Y xjiii (Q/ S’) w11
N Foo\ Xty = ~
’\";\15(%%“5 (;, 3> 5 =y

’ (c)tBﬂ |7

7. What is the focus of the graph of y* = [6x?

8. Write the equation of the cllipse graphed below.

N

>(43 3

-16

®
(—4.-3)

=16

97




In Problems 7-8, use Gaussian elimination to solve the
system.

T.3x + 2y~ z=-2
x4+ 2y — 3z = ~10
2~ yF z=12

8. x+ y+dz=12

2x +3y — z=17
dx + sy + 7z =21
12. The graph of th far equation *w-i—w’sa(n)
. L%ﬁlp of the polar equation r 3'—'453';19‘
A, circle.
B. ellipse.
€. hyperbola.

D. parabola opening up or down.

¥ E. parabola opening right or left.

13. An airplane is flying on a bearing 75° cast of north at
600 mph. Express the velocity of the airplane as a
vegtor.

15, Determine whether the vectors (2, —1} and {(—3, —7) are
orthogonal,

16. Find the angle between vector w == (8, —2) and vector
v = {I, —=3L

17. Eliminate the parameter and identify the graph of the
3
parametric curve given by ¥ = Frarart 2042 7

(3,

o 1)

8_(?i3%~ﬂ)73~wjj%>

2.

& <§ 77 ¢

15, Skfﬁ

s B3
X

m Ky

Find the inverse matrix of {2 ﬂ Then show how to

use matrix multiplication to support your result.

| (_{v-j -
- 10 =

&

w, L3

« b T

S
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57. Find the expanded form (3x -y )’

R Final Exam B

(continued)

2—31

26. Find the partial fraction decomposition of

27, For the function f(x) graphed below, which of the
following is the 11{3 f(x)?

4

i

=5

A. lim f(x) =2
C. lim f(x) =

B. E{I}E flx)y=172

D. img f{x) does not exist

28. Find the average rate of change of f(x) = qin x over
the interval [0, 7/2]. (o

)
5 ’ﬁ [
29. For the function f(x) = —=, what is the eduation of

the tangent line at x = 2?2

16. Write an augmented matrix for the system of equations.

Then use elementary row operations to obtain the
row echelon form.

—x 4 Iy = Tz = =10
2x + y+ 3r=19
x4+ 4y~ z=7
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